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lU.B.A. Semester-IY EramiDation
I.'INANCIAI, DI]RI\AI'IVES

Paper-lUBrv.ll03,/F
'I ime : I hree Hours]

\ote : - r l) Altempl ALL qucslions.
(2) Figures to thc right indicate marks.

(3) Use of scientitic calculator is permitted.

lvaximum ]larks : 70

SECTION-.{
(a) "lhe changing nature of financial industry. especialll reflecred in developments in the

financial derivatives market, pro\ ides considerable opportunities for risk sharing. What
action can be laken to control or plan lor these risks ? Can value be produced through
risk manag€menl strategies ? Explain. t4

OR

(b) "The basic purpose of de vatives instruments is to provide commiimcnts to prices fbr
future dates lor gi\ ing against adverse movcmcnt in fulure prices." Discuss and critica)ly
examine the statement. 1.1

SECTION-B
(a) '|or*ard contraots act as forerunners offuture market'. Critically evaluale the statcmcnl

in the light of growth of forward markct world wide. 1

(b) Suppose that on March 1 t$'o pa ies entcr into a forward contract for a delivery o1 200
troy ounces of gold on August I at a price of $ 550 per ounce. What \lil] be profi,
lLrss to rhe entry (long fonyard pricc), if the price of gold on Augusl l. tums oul !o bc

OR

(c) Discuss the concept ofvaluation of lbr$'ard contract in detail gith suitable illustration.
7

(d) Suppose on January 10, Manoj enters inlo a contract (forward) with Amar in rvhich he

agrees to buy 1000 shares of TVS molor company on July l at Rs. 950 per share. On
April I N{anoj decided to gel out of his position. He enters into a forward \'"ilh
ChaDdesh in \,"hich he agrees to sell 1000 shares to TVS Motor Company on Jr-r)y I

lbr Rs. 1000 per share. Show the position of Manoj on Julv l, 2013. 7
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(a) $'hat d(r l'ou understond b) thc teun'margin'? Discuis varlous lypes ofmargins \\ith
lhg hclp of suilable cxamples. 1

(b) XYZ t.td.. e\pects lo rcceive a pavmen! ol 10,00.000 I afier I months. The ! is
currently wortli $ 1.60 but lhe threc months future pricc is $ 1.56. XYZ expects the
price ol the I to decline (\alue of dollar u'ill rise). I1 this expeclation is j'ulfi]led. XYZ
\\ill sulfer a loss *hcn I are conyened in dollars rvhen vcru reccive them lhree months
in future. Calculate I

(i) Gircn a current price, uhat is cxpected pa)menl in dollars'.)

(ii) Givcn the luturc price, hox'much XYZ Ltd. wiil receive in dollars ?

(iiit Aficr 3 months pound is rvorth $ 1.38 lvhat is profit or loss lo XYZ Ltd. ? 7

OR
(c) Iixplain the role of clearing hoLrse lvith special emphasis upon'delivery mechanism'

in future markct. 7

(d) Ashareof DishTV is currently available at Rs. 100. The risk-tiec rate of interest is
8.59/o compounded continuousl\'. Thc share is expected to licld a dividend ofRs. 2.50
in I month from no\.\. Determine rhe value of J-months future contract if one contracl
invohes 2000 shares. 7

SECTION-C
(a) "Plain Vanilla S\ryAP is simplest lbrm of interest rate SWAP contract available iD

interesl rate S\\APS market.' Discuss qith a suitable e\ample. 7

(b) I:xplai| lhe nrechanism ol intcresr ratc SWAP with the help ol suitablc cxample. 7

OR
(c) Whal are the various types of cu(ency S\!L\P ? Explain their slructurc also. 7

(d) Fxplain d)e concept ol equir),S\ AP and what are the adranla.scs ofequit)'S$ P ?

SECTION_I)
Option or ABC 500 :

Stock price = Rs. 120

Exercise price = Rs. 100

Exercisedate=6months
Estimated slirndard deviation = -10%

Current Markct pricc = Rs. 28

Risk liee return: 89,'6 p.a.

Calculate the price of a Call and Put oprions of the Stock as per Black-Scholes model.
14
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